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1. XpxHH|

PN BN E=YAn R=JES H450 x @210 x @80 1 ea 21,800 21,800 21,800
[2 Al 21,800 - - 21,800
2. MX|H|

M HES AX| 1 ea 5,520 5,520 276 276 5,796
EERFRRH] =x) 24| 5% 5 % 21,800 1,090 1,090
[ A1 1,090 5,520 276 6,886
[g 41 22,890 5,520 276 28,686
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EHot = EHot FH ctot FH
1. XpxHH|
KM M &/ =/t H750 x @210 x @80 1 ea 26,000 26,000 26,000
[2 Al 26,000 - - 26,000
2. ™x|H|
M HES AX| 1 ea 5,520 5,520 276 276 5,796
EERFRRH] =x) 24| 5% 5 % 26,000 1,300 1,300
[ A1 1,300 5,520 276 7,096
[g 41 27,300 5,520 276 33,096
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EHot = EHot FH ctot FH

1. XpxHH|

KM AHE/ag/08] H750 x @210 x @80 1 ea 27,000 27,000 27,000
[2 Al 27,000 - - 27,000
2. MX|H|

M HES AX| 1 ea 5,520 5,520 276 276 5,796
EERFRRH] =x) 24| 5% 5 % 27,000 1,350 1,350
[ A1 1,350 5,520 276 7,146
[g 41 28,350 5,520 276 34,146




